By Jonathan Warshaw




oIMPLE WOODWORKER

]




SHOPPING LIST

® 4 pieces of 2x4, each 8 feet long

® 4 pieces of 2x6, each 8 feet long

o 2-3/4" self-tapping deck screws

e 25" x 25" seat cushion (or adjust plans for a smaller size)

e Exterior Glue

e Semi Transparent Waterproofing Stain & Sealer
Shopping Tips:

® Choose Straight Boards: Check for warping or twisting.

e Match Cushion Size: Ensure sofa plan fits cushion size.

e Select Weatherproof Materials: Opt for exterior screws and glue.

Note: Prefinishing the boards before cutting is recommended.

CUTTING DIMENSIONS

e 4 pieces of 2x4 (@ 22-1/4" for Legs

® 6 pieces of 2x6 @ 28-1/2" for Side Slats
e 2 pieces of 2x4 (@ 31-1/2" for Arm Rests
e 4 pieces of 2x6 @ 25" for Front and Back Slats
e 2 pieces of 2x4 @ 25" for Front Top Slat and Back Top
e 2 pieces of 2x2 @ 25-1/2" for Inside Cleat
e 5 pieces of 2x4 @ 25" for Seat Slats (4 may suffice)
Carefully measure and cut each piece according to these dimensions, and you'll be

well on your way to crafting your laundry basket stand! Make sure to use proper
safety equipment while cutting.

CUTTING IINSTRUCTIONS

The sofa is designed to fit a 25" x 25" seat cushion. Adjust plans if using different cushion
sizes.

Cutting Tips:
e Measure Twice, Cut Once: Ensure accuracy before cutting.
e Use Appropriate Tools: Miter saws are best for straight cuts.
e Support Your Material: Prop up plywood for clean cuts.
¢ Adjust for Cushion Size: Modify plans if using a different cushion size.



Tape Measure Pencil Safety Glasses Ear Protection Drill Gun

Speed Square Circular Saw Sander Level

25” 4l
\‘/<
25

!

M —

oIMPLE WODDWORKER


https://www.amazon.com/CRAFTSMAN-Measure-Self-Lock-25-Foot-CMHT37225S/dp/B07QG3ZXQC?keywords=tape%2Bmeasure&qid=1692632745&s=hi&sprefix=Tape%2Bme%2Ctools%2C107&sr=1-2-spons&sp_csd=d2lkZ2V0TmFtZT1zcF9hdGY&th=1&linkCode=ll1&tag=mangotreecomp-20&linkId=380c8b8954a6fe427a192d1e2374e7d4&language=en_US&ref_=as_li_ss_tl
https://www.amazon.com/Ticonderoga-Pre-Sharpened-Pencil-Eraser-Pack/dp/B079STQWBM?keywords=pencil&qid=1692633034&sr=8-6&th=1&linkCode=ll1&tag=mangotreecomp-20&linkId=6a76f7fe1cfcc3363b3b6735698cb9ef&language=en_US&ref_=as_li_ss_tl
https://www.amazon.com/Protective-Glasses-Adjustable-Temples-Protection/dp/B09FP2CC5T?keywords=eye+protection+glasses&qid=1692633119&sprefix=eye+protection%2Caps%2C155&sr=8-3-spons&sp_csd=d2lkZ2V0TmFtZT1zcF9hdGY&psc=1&linkCode=ll1&tag=mangotreecomp-20&linkId=17a12013285e9870fbe8c63c660b5eb4&language=en_US&ref_=as_li_ss_tl
https://www.amazon.com/ProCase-Protection-Headphones-Adjustable-Professional/dp/B07MNZ7C1M?crid=QOBM1DNTY51R&keywords=ear%2Bprotection&qid=1692633074&sprefix=ear%2Bpro%2Caps%2C111&sr=8-5&th=1&linkCode=ll1&tag=mangotreecomp-20&linkId=a54ae708c0c1d7d2e778f7620112d9ef&language=en_US&ref_=as_li_ss_tl
https://www.amazon.com/Swanson-Tool-S0101-7-inch-Square/dp/B00002255O?crid=1PUJ1567ROWC3&keywords=speed%2Bsquare&qid=1692633429&sprefix=speed%2Bsquare%2Caps%2C109&sr=8-5&th=1&linkCode=ll1&tag=mangotreecomp-20&linkId=9e43e511d4942a34c9a2442d2f0e9207&language=en_US&ref_=as_li_ss_tl
https://www.amazon.com/DEWALT-DCS570B-184mm-Cordless-Circular/dp/B06ZZY8KDL?crid=3N7JMSS5J4SBJ&keywords=circular%2Bsaw&qid=1692633562&sprefix=circular%2Bsaw%2Caps%2C114&sr=8-2-spons&sp_csd=d2lkZ2V0TmFtZT1zcF9hdGY&th=1&linkCode=ll1&tag=mangotreecomp-20&linkId=84ad77cc93c7eba9c2434d01e7c972b1&language=en_US&ref_=as_li_ss_tl
https://www.amazon.com/DEWALT-Random-Sander-Variable-DWE6423/dp/B0858C7X3M?crid=38UTLGJ7I2NMH&keywords=sander&qid=1692633697&sprefix=sander%2Caps%2C88&sr=8-1-spons&sp_csd=d2lkZ2V0TmFtZT1zcF9hdGY&th=1&linkCode=ll1&tag=mangotreecomp-20&linkId=4d1655c77412fb124518baa7ca262d0c&language=en_US&ref_=as_li_ss_tl
https://www.amazon.com/DOWELL-Magnetic-Different-180%C2%B0Measuring-Resistant/dp/B0744BYVJQ?crid=18WLQZK47BDRN&keywords=level&qid=1692633851&sprefix=level%2Caps%2C96&sr=8-4-spons&sp_csd=d2lkZ2V0TmFtZT1zcF9hdGY&th=1&linkCode=ll1&tag=mangotreecomp-20&linkId=4e87684faf277455ff839882a224dc59&language=en_US&ref_=as_li_ss_tl
https://www.amazon.com/dp/B002JWSNIS?_encoding=UTF8&aaxitk=beba863180a2205f18b987f55e66e129&content-id=amzn1.sym.cd95889f-432f-43a7-8ec8-833616493f4a%3Aamzn1.sym.cd95889f-432f-43a7-8ec8-833616493f4a&hsa_cr_id=5689825150101&pd_rd_plhdr=t&pd_rd_r=023af0c8-07ce-4708-9232-6aca58e31146&pd_rd_w=pjhrJ&pd_rd_wg=2RLYl&qid=1692633950&sr=1-2-9e67e56a-6f64-441f-a281-df67fc737124&th=1&linkCode=ll1&tag=mangotreecomp-20&linkId=6e6fc9c754b44c921f2faa77072f5951&language=en_US&ref_=as_li_ss_tl

INSTRUCTIONS

Step 1

\ 221/4”
2_.3/4" screw j\

22 1/4”

Gather 2-3/4" screws, exterior wood glue, legs, and 2x6 boards.
Apply glue to the legs and attach to 2x6 boards.

Ensure 3/4" spacing between the legs and the boards.

Use two 2-3/4" screws per joint to secure them.

Apply glue to the top area.

Attach the top with 2-3/4" screws.



INSTRUCTIONS

Step 2

ap in betweg

I

25

— L

1.Gather front and back slats, arms, and screws.
2.Align front slats with arms to form chair frame.
3.Secure front slats to arms using screws.

4.Repeat alignment and securing for back slats.

5.Check the frame for proper alignment.

— U

2-3/4" deck screws




INSTRUCTIONS

Step 3

i

—l-

1.Locate back top piece and gather 2-3/4" deck screws and glue.
2.Apply glue to the contact surface of the back top piece.

3.Align back top piece with the chair frame.

4.Secure with 2-3/4" deck screws evenly.

5. Allow glue to set; ensure piece is properly aligned.

Step 4

2/ 3/ 4” (screw)

\
T i

\

\
N

!

( '

AN

2-3/4" deck screws.

)

B
1. Apply glue to the contact surface of the cleats.
2.Align the cleats on top of the 3rd side slat.
3.Fasten using 2-3/4" screws, ensuring secure attachment.

4.Allow the glue to dry, and verify the alignment.




INSTRUCTIONS

Step 5

1l

1.Position the seat slats over the cleats evenly.
2.Ensure the slats align with the cleats below.
3.Apply a small amount of glue to secure placement.
4.Fasten the slats using screws for additional stability.

5.Check the alignment and wipe off any excess glue.

e

23 3/4”




